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QUESTION 1

Click the Exhibit button.
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Referring to the exhibit, you have multiple Layer 3 VPNs established in your network. You are asked to ensure that PE-4
allows CE-2 in VPN 1 to communicate with CE-1 in VPN 3.

Which two statements are correct in this scenario? (Choose two.)
A. Use a BGP export policy to share the appropriate VRF routes.

B. Use the auto-export feature to share the appropriate VRF routes.
C. Use a BGP import policy to share the appropriate VRF routes.
D. Use rib-groups to share the appropriate VRF routes.

Correct Answer: AC

QUESTION 2

After committing the following configuration change on your MPLS VPN PE router, all MPLS VPN destinations become
unreachable.

userf@router# show proteoccols mpls
traffic-engineering bgp-igp;

Which additional configuration solves the issue?

A.
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D.

Correct Answer: C

QUESTION 3

Click the Exhibit button.

userfhost> show route table bgp.evpn.0

1:10.0.0.18%:0: :a>2<d0001000001: :FFFF:FFFF/132 ADSEST
*[BER/170] 03:06:10, localpref 100, from 10.0.C.18B9
A% path: I, walidation-state: unverified
= +o 10.0.0.33 +ia et-0/70/0.0
to 10.0.0.35 wis et-0/0/1.0
2:10.0.0.18%9:1::100::00:00:5=:00:01:01/304 MAC/IP
*[BGE/170] 03:13:54, localpref 100, from 10.0.C.189
A8 path: I, walidation-state: unverified
= to 10.0.0.33 wie et-0/0/0.0
to 10.0.0.35 wias et-0/0/1.0
3:10.0.0.18%9%:1::100::10.0.0.18%/248 IM
*[peps/170] 03:13:54, loecalpref 100. from 10.0.C.18B9
A% path: I, walidation-state: unverified
= +to 10.0.0.33 wia =t-0/050.0
to 10.0.0.35 wia et-0/0/1.0
4:10.0.0.18%:0::a0<d0001000001:10.0.0.189/2%6 E3
*[BEP/170] 03:06:11, localpref 100, from 10.0.C.189
A0 path: T, walidation state: unwverified
> to 10.0.0.323 +ia et-0/0/0.0
to 10.0.0.35 wi=a et-0/0/1.0

Referring to the exhibit, what is the correct prefix length of the route for the multihomed device?
A. 192
B. 304
C. 296
D. 248

Correct Answer: B

QUESTION 4
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Click the Exhibit button.

user@PEZ# show
iwmld |
unit 0O {
encapsu_ation wvlan—-cco;
wlan—id 610;
peer—un-t 1;
H
unit 1 ¢
encapsu_ation vlan-zcc;
wlan—-id 610;
peer—-un-t 1;
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You have configured Layer 2 VPN stitching between two Layer 2 circuits on PE2, but traffic is not passing through the

VPN.

Referring to the exhibit, what is the problem?

A. The unit 1 peer unit must be set to 0.

B. The VLAN IDs must be lower than 512.

C. The VLAN IDs must be different on each unit.
D. The peer units must reference the VLAN IDs.

Correct Answer: A

QUESTION 5

Which neighbor state indicates that two BGP neighbors have full connectivity?
A. ldle

B. Connect

C. OpenConfirm

D. Established

Correct Answer: D
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